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BE&R [ KR IESA NIES IV V 2K
42 FK A/D>1000 1000>A/D=>10 10A/D=1 1>A/D=0. 01 0.01> A/D=HithkF/D
(TBq) (Ci) (TBq) (Ci) (TBq) (i) (TBq) (Ci) (TBq) (Ci)
“Am o =100 =2410° | =6%10" =2%10' | =6%10° =2 =6%10" =2410° | =1x10° =3%10"°
“Am/Be #H /4 =6%10°  =2%10" | =6%10' =2%10' | =6%10° =2 =6x10" =2%10" / /
pAu 4 =2%10° =5%10° | =2 =5x10" | =2%10' =5 =2%10° =5%10° | =1%10° =3%10"°
Cd #% =2%10" =5%10° | =2%10° =5%10° | =2%10" =5%10° | = 2%10'=5%10" | =1*10° =3%10°
PHCE 4 =2%10' =5%10" | =2%10' =5 =2%10° =5%10" | =2%10" =5%10" | =1%10° =3%10°
“iom 5 =65%100 =1%10° | =5%10" =1x10" | =5%10° =1 =5%10" =1%10° | =1%10° =3%10°
“Co 4 =7%10" =2%10" | =7 =2%10° | =710 =2x10" | =7x10° =2%10" | =1%10° =3*10"°
“Co #i =3%100 =8%10° | =3%10" =8 =3%107 =8%10" | =3%10" =8%10° | =1%10" =3%10"
“Fe # =8%10° =2%10" | =8%10" =2%10" | =8*10° =2%10" | =8 =2%10" =1%10° =3%10"
6d =1x10° =3x10" | =1x10 =3%10° | =1 =3%10 | =1%10° =3x10" | =1%10° =3%10"°
e # =7%10° =2%10" | =7 =2%10° | =7x10" =2%10" | =7%10" =2%10" / /
Yies 4 =1x10" =3%10" | =1 =3%10 | =1x10" =3 =2%10" =3%10° | =1x10° =3%10°
HE =2%10° =5%10" | =2%10" =5%10° | =2#10" =5%10" | =2%10' =5%10" | =1x10° =3
T =2%10° =5%10° | =2 =5x10 | =2%10' =5 =2%10° =5%10° | =1%10° =3%10°
T B =2%10° =5%10° | =2 =5x10 | =2%10' =5 =2%10° =5%10° | =1%10° =3%10"°
e g =8%10° =2%10° | =8%10' =2%10 | =8%10° =2 =8%10" =2%10° | =1%10° =3%10°
FKr 4 =3%10" =8%10" | =3%10° =8%10° | =3%10' =8%10 =3%10" =8 =1%10" =3%10"
Mo 4H =3%10" =8+10" | =3 =8%10 | =3%10' =8 =3%10" =8%10° | =1%10° =3%10"
UNi R =6%10" =2%10° | =6%10° =2%10" | =6%10" =2%10" | =6x10"' =2%10 =1%10" =3%10"
“p R =1x10" =3%10° | =1%10° =3%10" | =1x10" =3x10° | =1%10"' =3 =1%10" =3%10"
‘pd 41 =0%x10" =2%10° | =9%10° =2%10" | =9%x10' =2%x10° | =9%10' =2%10 =1%10" =3%10"
S =4%10" Z=1%10° | =4%10° =1%10" | =4%10" =1x10° | =4%10" =1%10 =1%10° =3%10"
“%po £p =6x10° =2%10" | =6%10" =2%10 | =6%10° =2 =6%10" =2%10° | =1%x10° =3%10°
“pu £f =6x100 =2%10° | =6%10" =2%10 | =6%10° =2 =6%10" =2%10° | =1x10° =3%10°
“pu’/Be £/ Bk =100 =2%10° | =6%10" =2%10 | =6%10° =2 =6%10" =2%10" / /
“Ra 4 =4%10° =1%10° | =4%10"' =1%10 | =4%10° =1 =4%10" =1%10° | =1%10° =3%10°
“Ru (“Rh) 4T =3%10° =8%10° | =3 =8%10 | =3%10' =8 =3%10° =8%10° | =1%10" =3%10"
PSe Tif =2%10° =5%10° | =2 =5x10 | =2%10' =5 =2%10° =5%10° | =1%10° =3%10"°
“sr (y) 48 >1%10° =3%10" | =1*10' =3%10° | =1 =5%10 | =1%10° =510 | =1x10° =3%10"
“Tc"$5 =7%10" =2%10" | =7 =2%10° | =710 =2x10" | =7x10° =2x10" =1%10° =3%10"
T 4k =2%10" =5k10° | =2%10° =5%10° | =2%10° =5k10° | =2%10' =5 =1%10" =3%10°
T 4% =2x10" =5k10° | =2%10° =5%10" | =2x10' =5x10° | =2%10"' =5 =1%10° =3%10"
Y £ >=3%10° =8%10° | =3 =810 | =3%10' =8 =3%10" =8%10° | =110 =3%10"




